Reverso en espafiol

P —_— HWGWTB2-1 OPTIONAL BLOWER
HOUSEWARMER" INSTALLATION INSTRUCTIONS

INSTRUCTIONS MUST BE LEFT WITH THE OWNER FOR FUTURE REFERENCE AFTER INSTALLATION.

Hardware Package
Replacement screws and anchors can be purchased at major hardware stores.

#10 X 1-1/2” SLOTTED HEX HEAD SCREW (2)

® (-

#8 X 3/8" PHILLIPS PAN HEAD SCREW (1) PLASTIC TOGGLE (2)
Tools Needed
1/8” DRILL BIT
FLAT SCREWDRIVER

< ) =)

PHILLIPS SCREWDRIVER

/Q

(

TAPE MEASURE

£/

Page 1



Installing the Blower On Sheet Rock Wall (Drywall)
1. Install furnace accordingto Installation Instructions and Owner's 3.
Manual.
2. Referto Figure 1 for measurements to locate two (2) mounting
holes on wall surface above furnace

Figure 1

On Solid Wall

3. After locating mounting holes, attach two (2) #10 X 1 1/2"
screws provided in blower kit into wall. Do not completely
tighten screwheads to wall, leave a 7/16" gap between screw-
heads and wall.

Figure 2

Page 2

After locating mounting holes, drill two (2) 5/16" diameter
holes into wall. Insert the two (2) plastic expansion anchors
provided in blower kit into holes. Insert two (2) #10 x 1 1/2"
screws provided in blower kit into plastic expansion anchors.
Do not completely tighten screwhead to plastic expansion
anchors, leave a 7/16" gap between screwheads and plastic
expansion anchors. Refer to Figure 3.

STEP 1

Figure 3

Figure 4

At the top of outer casing remove one (1) screw from center
clearance slot that attaches outer casing to header assembly.
Also, remove two (2) screws that attach bottom of outer casing
to inner casing. See Figures 5 and 6.

Figure 5

23820-3-0409



Figure 6

5. Remove the outer casing and place aside.

6. Remove (4) 8 x 3/8" screws that attach blower front to blower
housing. Separate blower front from blower housing. Remove
blower front by disconnecting fan control switch wire assembly
from power cord and motor wire.

Figure7

23820-3-0409

Position blower housing on top of header assembly. Align
key hole slots on back of blower housing with the two (2)
screws attached to wall. Do not tighten housing mounting
SCrews

Figure 8.

Route three-prong cord set between left side of outer casing
and innner casing. Replace the outer casing and attach to
header assembly. Attention: The center clearance hole will
not be used. The two outside clearance holes will be used to
attach outer casing to header assembly, (1) screw from Step 4
and (1) screw supplied in hardware package.

Caution: Blower cord set routing is important. Cord set
should be in proper location to avoid being overheated. In-
correct routing of cord set may result in damage to cord set.

THE CENTER CLEARANCE
HOLE WILL NOT BE USED

Figure 9

Page 3



9. Attach outer casing to inner casing with (2) screws from
Step 4.

/ﬁREW HOLES

A
A o] L
CASI

NG BRACKET

Figure 10

10. Position blower housing flush with wall surface and on top
of outer casing. Complete tightening blower housing screws
from Step 3 to wall.

Figure 11

11. Position blower front on top of outer casing and reconnect fan
control wire assembly to power cord and motor wire.

Page 4

12. Attach blower front to blower housing with (4) 8 x 3/8" screws
from Step 6.

Caution: When installing blower housing onto wall be care-
ful motor coil is not damaged.

Figure 12

13. Installation of optional blower assembly is completed.

Figure 13

23820-3-0409



Fan Control

The automatic fan control switch is located on the bottom of the
blower assembly. The fan control is a nonadjustable, automatic
type. The fan control will require between 3 and 7 minutes of main
burner operation before the fan control "closes" and activates the
blower. The blower will continue to run between 3 and 7 minutes
after the main burner shuts off, before the fan control "opens" and
deactivates the blower.

Wiring

The appliance, when installed, must be electrically grounded in ac-
cordance with local codes or, in the absence of local codes, with the
National Electrical Code, ANSI/NFPA 70 or Canadian Electrical
Code, CSA C22.1, if an external electrical source is utilized. This
appliance is equipped with a three-prong [grounding] plug for
your protection against shock hazard and should be plugged
directly into a properly grounded three-prong receptacle. Do
not cut or remove the grounding prong from this plug. For an
ungrounded receptacle, an adapter, which has two prongs and a
wire for grounding, can be purchased, plugged into the ungrounded
receptacle and its wire connected to the receptacle mounting screws.
With this wire completing the ground, the appliance cord plug can
be plugged into the adapter and be electrically grounded.

23820-3-0409

HWGWTB2-1 WIRING DIAGRAM

~~~~~ BLACK
------ WHITE

-

>{Mw GROUND

/ BLACK NEUTRAL - RIBBED INSULATION

> =

\ BLACK HOT - SMOOTH INSULATION

N o[ == BLACK ==
\. BLACK -"-3-"-

FAN CONTROL SWIT;}H\

IF ANY OF THE ORIGINAL WIRE WAS AS SUPPLIED WITH THIS
UNIT MUST BE REPLACED, IT MUST BE REPLACED WITH
125°C WIRE OR ITS EQUIVALENT.

Figure 14

NOTE: Ifyou want to ""hard-wire'" the blower, contact a certi-
fied electrician.

WARNING:

Unplugging of blower accessory will not stop the heater
from cycling. To shut heater off: Turn temperature dial
or thermostat to lowest setting. Turn knob on gas control
to "OFF," depressing slightly. Do not force.

Oiling
The blower motor does not have oiling holes. Do not attempt to
oil the blower motor.

Page 5



Page 6

PARTS LIST

INDEX  PART DESCRIPTION

NO. NUMBER

1 R2204 CORD SET

2 R1468 STRAIN RELIEF BUSHING

3 15888 BLOWER HOUSING ASSEMBLY
4 R1454 BRASS BUSHING (4 REQUIRED)
5 GWT197 BLOWER SIDE (2 REQUIRED)

6 R3085 WIRE ASSEMBLY

7 R2503 FAN SWITCH

8 15887 BLOWER FRONT

9 R1499 RUBBER GROMMET (4 REQUIRED)
10 R2804-A BLOWER

11 R1517 "U" CLIP (4 REQUIRED)

23820-3-0409



SERVICE NOTES

23820-3-0409 Page 7



g
HOUSEWARMER

HOUSEWARMER is a registered trademark of
Empire Comfort Systems Inc.

Manufactured by:
Empire Comfort Systems Inc.
918 Freeburg Ave. Belleville, IL 62220
PH: 877-459-1583
FAX: 877-459-0514

Page 8 23820-3-0409



6010-€-0T8¢ET

PIS0-6SP-LLS *XVA
€8S 1-6S1-LL8 ‘Hd
07779 I IMIAS[[g "dAY 3Iqaar] 816
"ou] SwAISAS Jo0ywo)) andwy
:10d opeouqe]

U] SwAISAS Jo0ywo)) andwy
9p epexsI3al RI0IOWO0D BoJeW BUN SO YTINAVMASNOH

HAWIVMMASNOH
——

§ euised



L euided 6010-€-078¢€T

OIDIAYHES 4d SVLON



6010-€-0T8ET

(# NVLISHDAN 4S) N\ NA VIAAVZVIAY L1STd 11
JIOAVT1dOS V-+08Cd 01

(¥ NVLISHOAN dS) VINOD dd AINVISIV VIHANVIV 6671 6
JYOAVT1dOS Tdd HINTIA L88S1 8

YOAVTLLNAA THA JOLdNIIALNI €0sTd L

SHTAVD dd 0dNdD $80¢y 9

(Z NVLISADHAN 4S) JOAVTdOS Tdd TVIHIVT L6TLMD S
(¥ NVLISTOAN dS) AONO¥E 9d ALANIT0D vSy1d v
JOAVTdOS TAd VSVOIVD V1 4d ArVINOW 88861 €
SHTAVOVSNAYUd AR 4

SHTAVD dd OLNNINOD v0TTd I

HINVA V1 0N

NOIDAOSHA  dd OYAWAN  ADIANI

SHLIVd HAd VLSI'T

9 euiSed




§ eurdeq

“10pe[dos [ap 10joul [3 IBILIGN] JUI)UT
ON "UQIIBILIGN] IP SOPYLIO U3} ou Jope[dos [ap 10jowr [
UQBILIqN'|

*8Z19nj e3ey

ON "JuouroAd] euorsaad ey senudru ‘(opesede) 140,
ugnIsod e| g)sey ses 9p [0.13u0d IP e[[L1dd B[ 3115) “owrTuIw
& 0je)souLId) 9 0 eanjerddurd) ap [BIP [d IS :10)d8JI[BD
[P J1edede eied °“10)0BJo[ed [P BINBWOINE UQIXIUOIA
B[ BIPUI)IP ou Jope[dos [9P OLIOSIIE [d JIeJNYIUISI
‘VIDNALIIAQY

*0PEBIYIIAD BISIILIPII[ un uod dsanbru
-nwod “operdos 9 duawdudueuwridd .1e)29uo0d,, BISIP IS

'VLON
1 eandiy

"ALNITIVAINOI NS O 0,521 3Ad
379VO NN ¥Od ¥vZV1dINI3Y 3930 3S ‘dvdINN VLSI NOD
OQVHLSININNS TVNIOIHO 319VO NNOTV VZV1dNIFH 3S IS

X&I‘OGV'IIJ.NEI/\ 730 TOY.LNOD 13A YOLdNYHILNI
(o e )
OY93IN ==

OSIT OLNIIAVISIV - Od9O3AN OAIA \
— N )

OQVIVNVYIOV OLNIINVISIV - O49O3IN Od1N3AN /

Vdd3I1L V NQIXANOD K

OONvVd
=== 0d93N

0av3gvo 13d VAVEOVIA L-¢a1MOMH

6010-€-0T8ET

“B1IOT) B 9JUOWIEILI}OQ[O OPBIOAUOD 18IS
1St A Jopejdepe [0 U9 0J0JoLIE [Op 9[qEO [Op AJNUOUD [ IBJNyOud
opond os ‘elIon) B UQIXAUO0D B[ ©)o[dwod 9[qed 1S9 0WO0)) "dJUILL
-1008WO) [9p dleuowr op SO[[IUIO} SO[ B J[qed [0 JB}09U0d A BLIdN
£ 0pPBIOJUOD OU 9JUSLLIOIBWO} [O U O[IBJNYOUD ‘BLION) B UQIXIUOD
ered ojqeo un £ seliae[o sop ouon onb “ropeidepe un reidwod
opond 9s ‘B1I01) B OPEJOAUOD OU JJUILLIOOLWO) UN BIBJ *dJNYIUI
9)$9 9P B.LIIN) B UQIXIU0I AP eliAg[d e[ 931nb 1u 93100 o\ ‘eI
B 0pPE)IIU0 uIwepIqap sejpund sd1) Ip 9JUILLIOIBUIO) [I U
JJUIWIB)IIIIP ISIBJNYIUI IIP A BILIPII[I BG.IBISIP 9P 0GSILI [9P
0[1933)0.d eaed [eLI91) € UQIXdU0I] SBIIAR[D S3.1) 9P 9JNyouUd un
U0J B)UIND 0JIJI)IE 9)S "BUIOIXO BOLIIOI[O 9JUINJ BUN BZI[IIN OS
1S °[ 72D VSO ‘asuaippun) 02142914 031p9)) 2 0 (0L VdAN/ISNV
‘IPUOIODN 0214122]7 031PO) 9 UOD OPIANOE AP ‘S[BI0] SOFIPOI
J1OQeY OU 9P 0SB U ‘0 SO[BI0[ SOFIPOI SO[ U0 OPIONIE IP JUIWED
-11309]9 BIION B OPBIOIUOD IBISI 9qap ‘OPEe[)SUL IS [e ‘0}0.JoME [

oped[qe)

"J0pe[dos [9 9A1IOBSIP

K BIqe,, 9S IOPBR[IUIA [P [01U0d [ anb op sojue sonurw / £ ¢
onuo opueuordUN eIenunuod Jopejdos 9 ‘ondede os jedround
Jopewanb [0 opuen)) “10pe[dos [0 9AT}OR £ J1IJ1D,, 9S JOPBR[JUIA
[op [013u09 2 9nb 9p sojue soynUIW / A ¢ US JBUOIOUNJ BIIGIP
[edrounid opewanb 17 -ojqeisnfe ou ‘oonewone odn ap S9 J0pe|
-TJUOA [Op [013U09 [ ‘Iope[dos [9p dlejuow [op JoLdjur red el uo
BIUINOUD 3S JOPB[IIUIA [3P [0JUOD P odnewoIne Joydniidur g
J0PE[IUIA [3P [0.3U0D)



6010-€-0T8ET

€1 ean3diy

‘[euorodo
Jopejdos [op ofeyuowr [op ugroeeisul ] opejo[dwos ey 9S ‘¢

1 eandiy

“epeuep 9SO Ou J0JOW [Ip BUIqOq B[ onb op osain3ose
‘pored e ud Jope[dos [op BSEOIED B[ JE[RISUI [€ (RIIUIIIAPY

"9 osed [9p 8/ X § 9P SO[[1UI0)
(t) uoo 1opejdos [op eseoted e[ e Jopejdos [op djuaxy [0 A1 ‘71

t euiSed

*J0JOW [9P J[qED [B A UQIOBJUSWI[E 3P J[QRI [B JIOPB[IIUIA
[OP [01U0D [3P SI[qBD 9p 0dNnI3 [0 18JOAUOI B BAJINA A JOLIDIXD
B0IqNO B[ 9p Jorradns oyred ey ud sopejdos [ap oyuaxg [oonbojo) 11

I1 eandig

‘poted e © ¢ osed
[op Jope|dos [op eseoIed B[ 9P SO[[IUI0) SO[ Jeisnfe op ouruo],
“JOLI9IX BIAIQND B[ 9p Joradns o1ed e ud A pared e[ op a10y
-10dns e[ onb [oa1u owstw [ J0pe[dos [9p eSeoIed v] anbojoy ‘01

0 ean3yy

VINHIEND VT 4d 4140d0S |
_Fri!‘r
SRRy = » &

i E

SOTTINIOL VdVvd SOIOI:HH%/

‘7 osed [op
SO[[IUIO} (Z) UOD JOLIOJUI BIIDIND B[ B JOLIAIXD BIAIqNO B[ 21 6



¢ eurded 6010-€-0T8ET

6 eIngig 5@

L eangdiy

‘34417 OI10vdS3 13d TVHLIN3O
01014140 13 YdvSN 3S ON

's9[qeo 9p ojun(uod [0 uo souep Jonpoid opand sojqed sof op
01001100U1 OPLLI00A] [ "USJUI[BI213s anb 1ejiao eled openoope
Ie3n] [0 ud IBIS9 9qap s9[qed 9p ojunfuoo [q -dueprodwr so
Jopejdos [9p s9[qeo op 0jun{uod [9p OPLLI0IA] [9 (BIIUIIIAPY

"SOLI0S9008
op 9jonbed 1o ud sopmyout of[ru1o} (1) A 4 osed [op of[ru10}

(1) ‘Tezaqes [9p alejuow [ JOLINXD ©lIAIqND B Jely ered
ueJesn os 21q1] 019edsd [Op SIOLI)XI SOIOYLIO SOqUIY "dIqI]
o10eds? [op [e13UID OIOYLIO [ BIBSN 9S OU :UQIOUD)Y "[BZOqed

19p alejuowr [0 o[ £ IOLIOIXI BJIIIQND B[ JBOO[0D B BAJONA
“JOLI9IUI BLIDIQND €] A JOLI9IXA BLIDIqND B 9p opIdrmnbzi
[e10)E] [ QJ)UD SEIA SI) 9P $9[qED P OJUN[U0d [9 9sed 'Y

10}

-OW [9P 9[qed [9p A UQIdBIUSWI[E AP [qED [P O[AIOQUOISIP
K JOPE[IIUAA [op [013U0d 9p J03dniIdjul [9p $o[qed op odnid [9
owo) Jopejdos [op jualy 2 Jeymnb ered “1ope[dos [op BseIIRd
e[ op Jopejdos [op ajuaij [0 aredag 1opedos [op BSBOIED B B
Joperdos [op djualy [0 uoun anb _g/¢ X § SO[[IUIO) (}) 2INY 9
"ope[ un & e[onbo[0o A J0119)Xd BJIDIqND B[ AIIOY

9 vangiy

"BseoIed
e[ op olejuow op So[[IuIo) SO[ 9)snle oN ‘pared e[ e sopLoype
SO[[TUI0) () SOp SO[ uod Iopejdos [op eseores e op Joudsod
opred e[ € SOIOYLIO SO 9P 9AB[O SEINUEI Se] 9UI[Y [8Z9qed [op
ofeyuowr [op zo1radns oj1ed e] ud Jopejdos [op eseoreogfonbojoy 2




6010-€-0T8ET

S vangiy

‘9 K ¢ sea31q ] 93NSuU0)) IOLIOJUL
B1I9IQND B[ UOO JOLIAIXD BLIAIGND B[ 9P JOLIdJul o)ed ] uoun
anb so[[1u10) () SOp 21121 ‘OWSIWISY ‘[ezaqed [9p ofejuow [e
JOLI9IX9 B)IAIQND B 9un anb 21q1] 010€ds? [9p [BNUD BINURI B OP
O[[1uI0} () UN 9111 “IOLIAIX BIIDIqND B op Jorradns ajred ej uyg

$ eangdiyg

‘¢ eIn3rg
B[ 9}[SUO)) "SO[[IUIO} SO[ IP SBZIQEd SB[ A S0JS9 XU 9] //
op oroedss un ofop ‘oonserd op uorsuedxo op saropeians sof e
SO[[IUIO} SO 9p sezaqed se 03[dwoo 1od dysnfe oN -oonseld
op uorsuedxa op saropejalns sof us Jopejdos [op 93onbed [0 us
sopmpoul /[ T X Q1# SO[[IUI0) (Z) sop apasu] “Iopedos [op
ajonbed [0 us sopmpour oonserd op ugisuedxo op saropejolns
(7) sop so] pared e[ ud ay10su] “pared €] ud ONOWEIP 9P .9 /S P
SOIOYLIO (7) SOp 2Ipe[e) “dfejuot 9p SOIOYLIO SO I18dIqn ap 03N

€

(059K) voo.L1R[qR) 9P Sopated ujy

¢ euiSed

7 eangiyg

‘pared e[ £ se)s9 o13u0 91/, op oroedso
un ofop ‘pored e[ e so[[IuI0} SO| 9p sezoqed se| 039[dwoo Jod
oisnfe oN “1opejdos [op o3onbed [0 us sopmiour ..z/1 [ X 01#
so[[1u103 (7) sop oy ‘afejuotu 9p SOIOYLIO SO Jedrqn op 03on|

€

sepIjos sapated ujy

1 ean3ig

“10J0BJO[ED [P BUIIOUD
10d pared ef op aroyradns ] us afejuow Ip SOIOYLIO (7) SOP 9P
uQIoROIqN Op SEPIPAW Se| Joudiqo eied | eIn3ij e 93nsuo)
‘orreydrdoad [op [enuew [9 A ugroe|

-BJSUI 9P SQUOIDONIISUI SB[ U0J OPIONOE P J0JOBJI[D [d 9[BISU]
Jopejdos [9p uoneEIsu]

C

1



[ euiSed

Odav1vli

VOIdLIN VINID

SdITTIHd 4OV TIINIOLSdd

&= ( =

ONV1d 4OV TIINIOLSHd
8/1dAvDodd

SELIBSIIIU SB)UdIWERLIDH

(1) 8/€ X 8# VOINODOONOIL
(2) VOILSY'1d VONVIVd VZ449VD 4d SAI'TTIHd OTTINYOL

@ (&)

(2) T/1-1 X 0T# VAV IVNVOV
TVYNODVXHH VZA9dVD 4d OTTINIOL

‘ser1ojo119) soredrourid sej us reidwoo uopond os 0ysandar op saropejolns £ sO[[IUI0} SO
SOL10S3dd® Ip I)dnbey

VINLNA VIDNHIHATE VIVd NOIDVIVLSNI VT dd ODdNT SANOIDDNYLSNI SVT IVAIISNOD 4949d OTdV.LIIdOdd Td

NOIDVTVLSNI 3d SINOIDDNALSNI . JAWIAVMISNOH
I-CALMOMH TVYNOIDdO d0dV1dOS -

ys1Sug 105 difg



